

DIFF

DR. EMAN DAR'AWI

MOHAMMED ZIAD

$ctg a = \frac{\cos a}{\sin a}$ $y = 2^x \ln x$ $\sin a = \pm \sqrt{1 - \cos^2 a}$

$\int_0^{\pi/4} \frac{dx}{\cos^2 x} = \int_0^{\pi/4} \frac{1}{\cos 2x} dx$ $tg a = \frac{\sin a}{\cos a}$ $\cos a \neq 0$ $y' = e^x (\sin x + \cos x)$

$\int_1^2 \frac{dx}{(2x+1)^2} = \int_1^2 \frac{1}{(2x+1)^2} dx$ $\sqrt{\sum_{i=1}^n a_i^2}$ $\sqrt{\sum_{i=1}^n (x_i - x_i')^2}$ $\mu(x_n - x_n')$ $\frac{1}{x} \cdot 2^x = 2^x (\ln x)$

$\int_0^{\pi/4} = tg \frac{\pi}{4} - tg 0 = 1 - 0 = 1$ $\sqrt{\sum_{i=1}^n b_i^2}$ $x + \sum_{i=1}^n b_i$ $S = \frac{a}{2} \sqrt{x^2 + h^2}$ $\int_1^2 \frac{dx}{(2x+1)^2} \sqrt{\sum_{i=1}^n a_i}$

$\frac{a}{1 - \frac{2x}{\sqrt{x^2 + y^2}}}$ $\sum_{i=1}^n (a_i x + b_i)^2 = \sum_{i=1}^n a_i^2 x^2 + 2 \sum_{i=1}^n a_i b_i x + \sum_{i=1}^n b_i^2$ $\frac{b}{2}$ z $y = e^x \sin x$

$\frac{x+1 - \sqrt{x+6}}{2x^2 - 7x - 15}$ $\frac{1}{5} \sqrt{x^2 + y^2}$ $\sin x$ $\lim_{x \rightarrow a} x^y - a^b$ $\lim_{y \rightarrow 1} \sqrt{y^2 + h^2} \left(\frac{2}{x} + \frac{1}{x^2} \right)$

$(\cos x - \sin x)$ $\begin{cases} y \leq 10x - 57; \\ y \leq -\frac{2}{5}x + \frac{53}{3}; \\ y \geq \frac{6}{7}x - \frac{15}{7}; \end{cases}$ $\cos a = \pm \sqrt{1 - \sin^2 a}$

$\frac{33}{8}$ $\sin a \neq 0$ $ctg a$ $\frac{1}{\sin a}$ $\frac{1}{\sin a}$ x

$-\frac{1}{5}$ $\frac{32}{5}$ $y = e^x \cdot \sin x$ $tg a$ $\sec a = \frac{1}{\cos a}$

$a \in \mathbb{R}$ \cos

POWER UNIT

Ordinary diff eqs:-

1.1 Basic concepts

① O.D.E = Eq which contains the derivatives of unknown y

ex: $2y' + y = 0$ O.D.E

$$y' = (x+1)e^{-x}y^2 \quad \text{O.D.E}$$

$$y'' - 2x(y'')^3 = 0 \quad \text{O.D.E}$$

- classification.

1) order the highest order of derivative

2) linear or non-linear

$$\textcircled{*} a_n(x)y^{(n)} + a_{n-1}(x)y^{(n-1)} + \dots + a_1(x)y' + a_0(x)y = f(x)$$

ex: $e^y, \sqrt{y}, \sin y, y'y, (y'')^3, y^2, \dots$ non-linear

3) homo or non homo

if $f(x) = 0 \Rightarrow \textcircled{*}$ is homo

$f(x) \neq 0 \Rightarrow \textcircled{*}$ is non homo

Exo

1) $y'' - \sin x y' - y = \sin x$ 2nd order, linear, non-homo

2) $y''' - 2x(y'')^3 = 0$
3rd order, N-linear, homo

3) $(x-1)y' + y = 0$
1st order, linear, homo

4) $y'' + 3y = 2$
2nd order, linear, non-homo

5) $y' + e^x y = x^2$
1st order, linear, non-homo

6) $(x+xy) dx + 2y dy = 0 \quad \div dx$

$x + xy + 2y y' = 0 \rightarrow$ 1st order, non-linear, non-homo

$y'' - 4y' + 4y = 0$ 2nd order, linear, homo

$y'' - 4y' + 4 = 0$ 2nd order, linear, non-homo

in O.D.E we are looking for sol $y(x)$ so the sol of O.D.E is $y(x)$ is satisfying the O.D.E.

Exo show that $y(x) = 10 - ce^{-x}$, with c is constant is a solution of $y' + y = 10$

$y = 10 - ce^{-x} \quad ce^{-x} + 10 - ce^{-x} = 10$

$y' = ce^{-x} \quad 10 = 10 \checkmark$

* initial value problems - ~~IVP~~ (ivp)

O.D.E + I.C = IVP

→ $y(x_0) = y_0$
→ to find c

ex: show that $y = Ce^{2x}$ is soln of the IVP $y' = 2y$
 $y(0) = 1$

$$y = ce^{2x}$$

$$1 = Ce^{2(0)}$$

$$C = 1$$

$$y = e^{2x}$$
$$y' = 2e^{2x}$$

$$y' = 2y$$
$$2e^{2x} = 2e^{2x}$$

1.3 separable D.E

$$f(x) dx = g(y) dy \quad \text{sep}$$

$$\text{the soln} \quad \int f(x) dx = \int g(y) dy$$

ex with of the following D.E: sep

$$\textcircled{D} \quad x \sin y dx + x^2 dy = 0$$

$$x \sin y dx$$

$$= \frac{-x^2 dy}{-x^2 \sin y} \rightarrow -\frac{1}{x} dx = \frac{1}{\sin y} dy \quad \text{sep}$$

$$2) x dx + x^2 y dy = 0$$

$$\frac{x dx}{-x^2} = \frac{-x^2}{-x^2} y dy$$

$$\frac{-1}{x} dx = y dy \quad \text{sep}$$

$$3) dx + x^2 y dy = 0$$

$$\frac{dx}{-x^2} = \frac{-x^2}{x^2} y dy$$

$$\frac{dx}{-x^2} = y dy \quad \text{sep}$$

$$4) (x+y) dx + x^2 \sin y dy = 0 \quad X$$

ex solve

$$1) \frac{dy}{dx} = y^2 \cos x \longrightarrow \int \frac{dy}{y^2} = \int \cos x dx$$

$$-\frac{1}{y} = \sin x + C \longrightarrow y = \frac{1}{-\sin x + C}$$

ist die Lösung y ableiten

$$2) \frac{dy}{dx} = x^2 y^2 + y^2 + x^2 + 1, y(0) = 2$$

$$dy = (y^2(x^2+1) + (x^2+1)) dx$$

$$dy = (y^2+1)(x^2+1) dx$$

$$\int \frac{dy}{y^2+1} = \int (x^2+1) dx \longrightarrow \tan^{-1} y = \frac{x^3}{3} + x + C$$

$$\tan^{-1} 2 = \frac{0^3}{3} + 0 + C \longrightarrow C = \tan^{-1} 2$$

$$3) e^{x+y} dx = e^{x-2y} dy \longrightarrow \frac{e^x e^y dx}{e^x e^{2y}} = \frac{e^x e^{-2y} dy}{e^x e^{2y}}$$

$$\int dx = \int e^{-3y} dy \text{ sep} \longrightarrow x + C = e^{-3y} \times \frac{-1}{3}$$

$$4) dy - xy dx = (4y + 3x + 12) dx$$

$$dy = (xy + 4y + 3x + 12) dx \longrightarrow dy = (y(x+4) + 3(x+4)) dx$$

$$\int dy = \int (x+4)(y+3) dx \longrightarrow \ln |y+3| = \frac{x^2}{2} + 4x + C$$

← sep + integration

Five Apple

* Reduction to separable: (Homo D.E)

$$y' = f\left(\frac{y}{x}\right) \text{ Homo D.E}$$

$$\text{let } u = \frac{y}{x}, \quad y = ux$$

$$y' = u'x + u$$

$$u'x + u = f(u) \rightarrow u'x = f(u) - u$$

$$\frac{du}{dx} x = f(u) - u$$

$$\frac{du}{f(u) - u} = \frac{dx}{x} \text{ sep}$$

exs solv $2xy y' = y^2 - x^2$

سازگار است

$$y' = \frac{y^2 - x^2}{2xy} = \frac{1}{2} \left(\frac{y}{x} - \frac{x}{y} \right)$$

$$y' = \frac{1}{2} \left(\frac{y}{x} - \frac{1}{\frac{y}{x}} \right) \text{ Homo D.E}$$

من صورتی که اصول است

$$\text{let } u = \frac{y}{x}, \quad y = ux, \quad y' = u'x + u$$

$$u'x + u = \frac{1}{2} \left(u - \frac{1}{u} \right) \rightarrow u'x = \frac{1}{2} u - u - \frac{1}{2u}$$

$$\frac{du}{dx} x = -\frac{1}{2} u - \frac{1}{2u} = \frac{-u^2 - 1}{2u} \rightarrow \frac{du}{dx} x = -\left(\frac{u^2 + 1}{2u} \right)$$

$$\int \frac{2u}{u^2 + 1} du = \int -\frac{dx}{x} = \ln |u^2 + 1| = -\ln |x| + C$$

$$\left(\frac{y}{x} \right)^2$$

Five Apple